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Ail aiA1,diB1,aiC1,aiD1 Aol AoA1,a0B1,a0C1,30D1
Ai2 aia2,aiB2,aic2,aiD2 A02 QoA2,d0B2,a0C2,a0D2

Bil bia1,bis1,bict,bip1
Bi2 biaz,big2,bic2,bip2

Bol boa1,boB1,b0c1,boD1
Bo2 boa2,boB2,b0c2,b0D2

1L

1L

Ail=(aia1taigi+aicitaipi)/4
Ai2=(aiaz+aig2+aicztain2)/4
Bil=(bia1+bis1+bici+bip1)/4
Bi2=(biaz2+big2+bic2+bip2)/4

Ao0l=(aoartaositaocitaocpi)/4
A02=(aoa2t+aos2+aocc2taocn2)/4
Bol=(boa1+bos1+boci+bop1)/4
B02=(boa2+bos2+boc2+bop2)/4

J L

L

Ai=(Ai1+Ai2)/2
Bi=(Bil+Bi2)/2

Ao=(A0l1+A02)/2
Bo=(Bol1+Bo02)/2

J L

J L

(Ai+Bi)/2+ 0

=(Ao+Bo0)/2+ -1.0
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